ESM Solutions - Sourcing - Line Item Bid

Event ID B20027

Event Name Microsoft Campus Agreement Section Name Standard Line Item Pricing

Column1	Total Cos	t	Bun	dle #1	Bundle #2		Bundle #3	
ACP CreativIT		No Bid		No Bid		No Bid		No Bid
AQL Technologies*	\$	167,862.48		No Bid		No Bid		No Bid
CDW Government LLC	\$	155,863.90	\$	106,776.00	\$	174,348.00	\$	219,852.00
Crayon Software Experts LLC	\$	144,795.03	\$	96,264.00	\$	159,192.00	\$	198,216.00
Dynamic Interactive Business Systems Inc*	\$	160,646.70		No Bid		No Bid		No Bid
Futurehaus		No Bid		No Bid		No Bid		No Bid
SHI International	\$	133,263.12	\$	102,384.00	\$	167,184.00	\$	210,816.00
White Rock Cybersecurity	\$	161,358.50	\$	104,328.00	\$	170,424.00	\$	215,136.00
Zones, LLC	\$	145,563.54	\$	97,272.00	\$	158,832.00	\$	200,268.00

*Not all line items included in total cost

			*Not all line items included in total cost							
Supplier Name	Response Notes	Item Number (Required Entity)	Item/Service (Required - Entity)	Quantity (Required - Entity)	Unit Bid Price (Required - Supplier)	Extended Bid Price (Required - Supplier)	Notes	SupplierNotes	Attachments	NoBid
CDW Government LLC	CDW Government ("CDW-G") submits this bid response subject only to the terms and conditions contained in the current IPHEC Computer Components Contract agreement. Any terms and conditions in the bid or elsewhere that are additional to or different from the terms and conditions of that agreement shall not apply to any transaction(s) that results from CDW-G's submission of its bid response.	9GA-00006	Microsoft Core Infrastructure Server Suite Standard	256	\$ 14.27	\$ 3,653.1				No
Zones, LLC	Pricing section is filled ,Also refer to Zones Quote attached with Zones Response.	9GA-00006	Microsoft Core Infrastructure Server Suite Standard	256	\$ 13.32	\$ 3,409.9	2			No
AQL Technologies	Please find the below documents attached. Signed_B20027 Microsoft Campus Agreement Signed_Microsoft Campus Agreement 2020 AD1	9GA-00006	Microsoft Core Infrastructure Server Suite Standard	256	\$ 15.58	\$ 3,988.4	3			No
SHI International	Please see attached for SHI's response.	9GA-00006	Microsoft Core Infrastructure Server Suite Standard	256	\$ 13.68	\$ 3,502.0	3			No
White Rock Cybersecurity	Thank you!	9GA-00006	Microsoft Core Infrastructure Server Suite Standard	256	\$ 13.95	\$ 3,571.2)			No
CRAYON SOFTWARE EXPERTS LLC	Please see attached pricing in response to B20027.	9GA-00006	Microsoft Core Infrastructure Server Suite Standard	256	\$ 13.29	\$ 3,402.2	1			No
Dynamic Interactive Business System Inc	None. Vendor agreed to all the standard terms and conditions	9GA-00006	Microsoft Core Infrastructure Server Suite Standard	256	\$ 16.43	\$ 4,206.0	3			No
CDW Government LLC	CDW Government ("CDW-G") submits this bid response subject only to the terms and conditions contained in the current IPHEC Computer Components Contract agreement. Any terms and conditions in the bid or elsewhere that are additional to or different from the terms and conditions of that agreement shall not apply to any transaction(s) that results from CDW-G's submission of its bid response.	6VC-01251	Microsoft Windows Remote Desktop Services	1800	\$ 6.00	\$ 10,800.0				No
Zones, LLC	Pricing section is filled ,Also refer to Zones Quote attached with Zones Response.	6VC-01251	Microsoft Windows Remote Desktop Services	1800	\$ 5.61	\$ 10,098.0)			No
AQL Technologies	Please find the below documents attached. Signed_B20027 Microsoft Campus Agreement Signed_Microsoft Campus Agreement 2020 AD1	6VC-01251	Microsoft Windows Remote Desktop Services	1800	\$ 9.40	\$ 16,920.0	0			No
SHI International		6VC-01251	Microsoft Windows Remote Desktop Services	1800	\$ 5.76	\$ 10,368.0	0			No
White Rock Cybersecurity	Thank you!	6VC-01251	Microsoft Windows Remote Desktop Services	1800			0			No
CRAYON SOFTWARE EXPERTS LLC	Please see attached pricing in response to B20027.	6VC-01251	Microsoft Windows Remote Desktop Services	1800						No
Dynamic Interactive Business System Inc	None. Vendor agreed to all the standard terms and conditions	6VC-01251	Microsoft Windows Remote Desktop Services	1800						No

Supplier Name	Response Notes	Item Number (Required	Item/Service (Required - Entity)	Quantity (Required -		Bid Price	Extended Bid Price	Notes	SupplierNotes	Attachments	NoBid
		Entity)		Entity)	(Requ	uired -	(Required - Supplier)				
CDW Government LLC	CDW Government ("CDW-G") submits this bid response subject only to the terms and conditions contained in the current IPHEC Computer Components Contract agreement. Any terms and conditions in the bid or elsewhere that are additional to or different from the terms and conditions of that agreement shall not apply to any transaction(s) that results from CDW-G's submission of its bid response.		Microsoft Windows Remote Desktop Services – External Connector		2 \$	858.62	\$ 1,717.24				No
Zones, LLC	Pricing section is filled ,Also refer to Zones Quote attached with Zones Response.	6XC-00298	Microsoft Windows Remote Desktop Services – External Connector	:	2 \$	801.90	\$ 1,603.80				No
SHI International	Please see attached for SHI's response.	6XC-00298	Microsoft Windows Remote Desktop Services – External Connector	2	2 \$	823.32	\$ 1,646.64				No
AQL Technologies	Please find the below documents attached. Signed_B20027 Microsoft Campus Agreement Signed_Microsoft Campus Agreement 2020 AD1	6XC-00298	Microsoft Windows Remote Desktop Services – External Connector	:	2 \$	1,150.00	\$ 2,300.00				No
White Rock Cybersecurity	Thank you!	6XC-00298	Microsoft Windows Remote Desktop Services – External Connector	:	2 \$	839.79	\$ 1,679.58				No
CRAYON SOFTWARE EXPERTS LLC	Please see attached pricing in response to B20027.	6XC-00298	Microsoft Windows Remote Desktop Services – External Connector	:	2 \$	799.56	\$ 1,599.12				No
Dynamic Interactive Business System Inc	None. Vendor agreed to all the standard terms and conditions	6XC-00298	Microsoft Windows Remote Desktop Services – External Connector		2 \$	988.76	\$ 1,977.52				No
CDW Government LLC	CDW Government ("CDW-G") submits this bid response subject only to the terms and conditions contained in the current IPHEC Computer Components Contract agreement. Any terms and conditions in the bid or elsewhere that are additional to or different from the terms and conditions of that agreement shall not apply to any transaction(s) that results from CDW-G's submission of its bid response.	D87-01057	Visio Professional	100	0 \$	47.56	\$ 4,756.00				No
Zones, LLC	Pricing section is filled ,Also refer to Zones Quote attached with Zones Response.	D87-01057	Visio Professional	100	0 \$	44.41	\$ 4,441.00				No
SHI International	Please see attached for SHI's response.	D87-01057	Visio Professional	100	0 \$	45.60	\$ 4,560.00				No
White Rock Cybersecurity	Thank you!	D87-01057	Visio Professional		0 \$	46.51	, ,				No
AQL Technologies	Please find the below documents attached. Signed_B20027 Microsoft Campus Agreement Signed_Microsoft Campus Agreement 2020 AD1	D87-01057	Visio Professional	100	0 \$	52.00	\$ 5,200.00				No
CRAYON SOFTWARE EXPERTS LLC	Please see attached pricing in response to B20027.	D87-01057	Visio Professional		0 \$	44.28	\$ 4,428.00				No
Dynamic Interactive Business System Inc	None. Vendor agreed to all the standard terms and conditions	D87-01057	Visio Professional	100	0 \$	5.15	\$ 515.00				No
CDW Government LLC	CDW Government ("CDW-G") submits this bid response subject only to the terms and conditions contained in the current IPHEC Computer Components Contract agreement. Any terms and conditions in the bid or elsewhere that are additional to or different from the terms and conditions of that agreement shall not apply to any transaction(s) that results from CDW-G's submission of its bid response.	9GS-00495	Microsoft Core Infrastructure Server Suite Datacenter	90	6 \$	61.08	\$ 5,863.68				No
Zones, LLC	Pricing section is filled ,Also refer to Zones Quote attached with Zones Response.	9GS-00495	Microsoft Core Infrastructure Server Suite Datacenter	90	6 \$	57.04	\$ 5,475.84				No
SHI International	Please see attached for SHI's response.	9GS-00495	Microsoft Core Infrastructure Server Suite Datacenter	90	6 \$	58.56	\$ 5,621.76				No
White Rock Cybersecurity	Thank you!	9GS-00495	Microsoft Core Infrastructure Server Suite Datacenter	90	6 \$	59.73	\$ 5,734.08				No
AQL Technologies	Please find the below documents attached. Signed_B20027 Microsoft Campus Agreement Signed_Microsoft Campus Agreement 2020 AD1	9GS-00495	Microsoft Core Infrastructure Server Suite Datacenter		6 \$	61.00					No
CRAYON SOFTWARE EXPERTS LLC	Please see attached pricing in response to B20027.	9GS-00495	Microsoft Core Infrastructure Server Suite Datacenter	90	6 \$	56.87	\$ 5,459.52				No

Supplier Name	Response Notes	Item Number (Required	ltem/Service (Required - Entity)	Quantity (Required -		Bid Price	Extended Bid Price	Notes Sup	plierNotes	Attachments	NoBid
		Entity)		Entity)	_	uired - lier)	(Required - Supplier)				
Dynamic Interactive Business System Inc	None. Vendor agreed to all the standard terms and	9GS-00495	Microsoft Core Infrastructure Server Suite	96	Supp 5 \$	70.50	\$ 6,768.00				No
- ,	conditions		Datacenter				, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,				
CDW Government LLC	CDW Government ("CDW-G") submits this bid response	H30-00237	Project Professional	130	\$	55.06	\$ 7,157.80				No
	subject only to the terms and conditions contained in the										
	current IPHEC Computer Components Contract agreement.										
	Any terms and conditions in the bid or elsewhere that										
	are additional to or different from the terms and conditions										
	of that agreement shall not apply to any transaction(s)										
	that results from CDW-G's submission of its bid response.										
Zones, LLC	Pricing section is filled ,Also refer to Zones Quote attached	H30-00237	Project Professional	130	n s	51.43	\$ 6,685.90				No
2501103, 220	with Zones Response.	1130 00237	Trojece Trojecosiona.			31.13	0,003.30				
SHI International	Please see attached for SHI's response.	H30-00237	Project Professional	130		52.80	· · · · · · · · · · · · · · · · · · ·				No
White Rock Cybersecurity	Thank you!	H30-00237	Project Professional	130		53.86	. ,				No
AQL Technologies	Please find the below documents attached.	H30-00237	Project Professional	130) \$	61.00	\$ 7,930.00				No
	Signed_B20027 Microsoft Campus Agreement										
CDAVON COSTINADE EVDEDTS LLC	Signed_Microsoft Campus Agreement 2020 AD1	1120 00227	Ducinet Ducfassion al	420) ¢	F1 20	¢				NI =
CRAYON SOFTWARE EXPERTS LLC	Please see attached pricing in response to B20027.	H30-00237 H30-00237	Project Professional	130	_	51.28 5.80					No
Dynamic Interactive Business System Inc	None. Vendor agreed to all the standard terms and conditions	П30-00237	Project Professional	130	7 >	5.80	5 /54.00				INO
CDW Government LLC	CDW Government ("CDW-G") submits this bid response	7JQ-00341	SQL Server Enterprise Core	60	5 \$	1,159.59	\$ 69,575.40				No
	subject only to the terms and conditions contained in the		The second secon		1	_,	, , , , , , , , , , , , , , , , , , , ,				
	current IPHEC Computer Components Contract agreement.										
	Any terms and conditions in the bid or elsewhere that										
	are additional to or different from the terms and conditions										
	of that agreement shall not apply to any transaction(s)										
	that results from CDW-G's submission of its bid response.										
7	Biting and the infilled Alexandrate 7 and 0 attacked	710 00244	COL Co	-	1 6	4 002 04	ć (4.000.co				N.
Zones, LLC	Pricing section is filled ,Also refer to Zones Quote attached with Zones Response.	/JQ-00341	SQL Server Enterprise Core	60	\$	1,083.01	\$ 64,980.60				INO
SHI International	Please see attached for SHI's response.	7JQ-00341	SQL Server Enterprise Core	60) \$	1,111.92	\$ 66,715.20				No
White Rock Cybersecurity	Thank you!	7JQ-00341	SQL Server Enterprise Core		\$	1,134.16					No
AQL Technologies	Please find the below documents attached.	7JQ-00341	SQL Server Enterprise Core		\$	1,150.00	•				No
	Signed_B20027 Microsoft Campus Agreement										
	Signed_Microsoft Campus Agreement 2020 AD1										
CRAYON SOFTWARE EXPERTS LLC	Please see attached pricing in response to B20027.	7JQ-00341	SQL Server Enterprise Core) \$	1,079.83					No
Dynamic Interactive Business System Inc	None. Vendor agreed to all the standard terms and	7JQ-00341	SQL Server Enterprise Core	60	\$	1,335.34	\$ 80,120.40				No
6504.6	conditions	475 00040 1001	lup 4				A				
CDW Government LLC	CDW Government ("CDW-G") submits this bid response	4ZF-00019-12MO	VDA	110	۶ ۲	32.17	\$ 3,538.70				No
	subject only to the terms and conditions contained in the										
	current IPHEC Computer Components Contract agreement. Any terms and conditions in the bid or elsewhere that										
	are additional to or different from the terms and conditions										
	of that agreement shall not apply to any transaction(s)										
	that results from CDW-G's submission of its bid response.										
Zones, LLC	Pricing section is filled ,Also refer to Zones Quote attached	47E-00010 12N40	VDA	110	n ć	30.04	\$ 3,304.40				No
ZOITES, LLC	with Zones Response.	+71 -00012-12IVIO	VDA	110		30.04	۶ 5,304.40				No
SHI International	Please see attached for SHI's response.	4ZF-00019-12MO	VDA	110	\$	30.84	\$ 3,392.40				No
White Rock Cybersecurity	Thank you!	4ZF-00019-12MO	VDA	110	_	31.44					No
AQL Technologies	Please find the below documents attached.	4ZF-00019-12MO	VDA	110		32.00					No
	Signed_B20027 Microsoft Campus Agreement										
	Signed_Microsoft Campus Agreement 2020 AD1										
CRAYON SOFTWARE EXPERTS LLC	Please see attached pricing in response to B20027.	4ZF-00019-12MO	VDA	110	_	29.95					No
Dynamic Interactive Business System Inc	None. Vendor agreed to all the standard terms and	4ZF-00019-12MO	VDA	110) \$	37.00	\$ 4,070.00				No
	conditions										

Supplier Name	Response Notes	Item Number (Require	ed - Item/Service (Required - Entity)	Quantity (Required -	Unit Bi	d Price	Extended Bid Price	Notes	SupplierNotes	Attachments	NoBid
		Entity)		Entity)	(Requi		(Required - Supplier)				
					Supplie	er)					
CDW Government LLC	CDW Government ("CDW-G") submits this bid response	7HS-00001	Project Online Essentials	1800	\$		\$ -				No
	subject only to the terms and conditions contained in the										
	current IPHEC Computer Components Contract agreement.										
	Any terms and conditions in the bid or elsewhere that										
	are additional to or different from the terms and conditions										
	of that agreement shall not apply to any transaction(s)										
	that results from CDW-G's submission of its bid response.										
Zones, LLC	Pricing section is filled ,Also refer to Zones Quote attached	7HS-00001	Project Online Essentials	1800	n ć	_	ė				No
	with Zones Response.		-			_					
SHI International	Please see attached for SHI's response.	7HS-00001	Project Online Essentials	1800		-	-				No
White Rock Cybersecurity	Thank you!	7HS-00001	Project Online Essentials	1800		-	\$ -				No
AQL Technologies	Please find the below documents attached.	7HS-00001	Project Online Essentials	1800							Yes
	Signed_B20027 Microsoft Campus Agreement										
CDAVON COSTINARS SYDERTS I I C	Signed_Microsoft Campus Agreement 2020 AD1	7115 00004	Parity of Oality Francisch	4000	2 6		A				NI -
CRAYON SOFTWARE EXPERTS LLC	Please see attached pricing in response to B20027.	7HS-00001	Project Online Essentials	1800		- 0.50	т				No
Dynamic Interactive Business System Inc	None. Vendor agreed to all the standard terms and conditions	7HS-00001	Project Online Essentials	1800	J \$	0.50	\$ 900.00				No
CDW Government LLC	CDW Government ("CDW-G") submits this bid response	CWZ-00023-12MO	StorSimple Support Standard	1	1 \$	4,167.33	\$ 4,167.33				No
	subject only to the terms and conditions contained in the										
	current IPHEC Computer Components Contract agreement.										
	Any terms and conditions in the bid or elsewhere that										
	are additional to or different from the terms and conditions										
	of that agreement shall not apply to any transaction(s)										
	that results from CDW-G's submission of its bid response.										
Zones, LLC	Pricing section is filled ,Also refer to Zones Quote attached with Zones Response.	CWZ-00023-12MO	StorSimple Support Standard	1	1 \$	3,892.10	\$ 3,892.10				No
SHI International	Please see attached for SHI's response.	CWZ-00023-12MO	StorSimple Support Standard	1	1 ¢	3,996.00	\$ 3,996.00				No
White Rock Cybersecurity	Thank you!	CWZ-00023-12MO	StorSimple Support Standard StorSimple Support Standard	1	1 5	4,075.92	· · · · · · · · · · · · · · · · · · ·				No
AQL Technologies	Please find the below documents attached.	CWZ-00023-12MO	StorSimple Support Standard	1	1	4,073.32	7,073.32				Yes
//QL recimologies	Signed B20027 Microsoft Campus Agreement	CW2 00023 121VIO	Storomipie Support Standard		1						
	Signed_Microsoft Campus Agreement 2020 AD1										
CRAYON SOFTWARE EXPERTS LLC	Please see attached pricing in response to B20027.	CWZ-00023-12MO	StorSimple Support Standard	1	1 \$	3,996.00	\$ 3,996.00				No
Dynamic Interactive Business System Inc	None. Vendor agreed to all the standard terms and	CWZ-00023-12MO	StorSimple Support Standard	1	1	3,330.00	γ 3,330.00				Yes
	conditions				-						
CDW Government LLC	CDW Government ("CDW-G") submits this bid response	W76-00001-12MO	Office 365 ATP Plan 1	900) \$	15.89	\$ 14,301.00				No
	subject only to the terms and conditions contained in the						,				
	current IPHEC Computer Components Contract agreement.										
	Any terms and conditions in the bid or elsewhere that										
	are additional to or different from the terms and conditions										
	of that agreement shall not apply to any transaction(s)										
	that results from CDW-G's submission of its bid response.										
Zones, LLC	Pricing section is filled ,Also refer to Zones Quote attached	W76-00001-12MO	Office 365 ATP Plan 1	900	5 \$	14.84	\$ 13,356.00				No
	with Zones Response.				<u></u>	<u></u>					
SHI International	Please see attached for SHI's response.	W76-00001-12MO	Office 365 ATP Plan 1	900) \$	15.24	\$ 13,716.00				No
White Rock Cybersecurity	Thank you!	W76-00001-12MO	Office 365 ATP Plan 1	900) \$	15.60	\$ 14,040.00				No
AQL Technologies	Please find the below documents attached.	W76-00001-12MO	Office 365 ATP Plan 1	900	\$	16.00	\$ 14,400.00				No
	Signed_B20027 Microsoft Campus Agreement										
	Signed_Microsoft Campus Agreement 2020 AD1										
CRAYON SOFTWARE EXPERTS LLC	Please see attached pricing in response to B20027.	W76-00001-12MO	Office 365 ATP Plan 1	900		14.80	•				No
Dynamic Interactive Business System Inc	None. Vendor agreed to all the standard terms and	W76-00001-12MO	Office 365 ATP Plan 1	900	\$	18.30	\$ 16,470.00				No
	conditions										

Supplier Name	Response Notes	Item Number (Requir	red · Item/Service (Required - Entity)	Quantity (Required -	Unit E	id Price	Extended Bid Price	Notes	SupplierNotes	Attachments	NoBid
		Entity)		Entity)		ired -	(Required - Supplier)				
					Suppl						
CDW Government LLC	CDW Government ("CDW-G") submits this bid response	LEH-00002-12MO	EMS A3	900	\$	18.78	\$ 16,902.00				No
	subject only to the terms and conditions contained in the										
	current IPHEC Computer Components Contract agreement.										
	Any terms and conditions in the bid or elsewhere that										
	are additional to or different from the terms and conditions										
	of that agreement shall not apply to any transaction(s)										
	that results from CDW-G's submission of its bid response.										
Zones, LLC	Pricing section is filled ,Also refer to Zones Quote attached	LEH-00002-12MO	EMS A3	900) \$	17.53	\$ 15,777.00				No
	with Zones Response.										
SHI International	Please see attached for SHI's response.	LEH-00002-12MO	EMS A3	900		-	τ				No
White Rock Cybersecurity	Thank you!	LEH-00002-12MO	EMS A3	900	_	18.36	•		36,000 stu use bnft		No
AQL Technologies	Please find the below documents attached.	LEH-00002-12MO	EMS A3	900	9 \$	19.00	\$ 17,100.00				No
	Signed_B20027 Microsoft Campus Agreement										
	Signed_Microsoft Campus Agreement 2020 AD1										
CRAYON SOFTWARE EXPERTS LLC	Please see attached pricing in response to B20027.	LEH-00002-12MO	EMS A3	900		16.92					No
Dynamic Interactive Business System Inc	None. Vendor agreed to all the standard terms and conditions	LEH-00002-12MO	EMS A3	900) Ş	21.62	\$ 19,458.00				No
CDW Government LLC	CDW Government ("CDW-G") submits this bid response	3R3-00001-12MO	AAD P1	303	1 \$	6.26	\$ 1,884.26				No
	subject only to the terms and conditions contained in the										
	current IPHEC Computer Components Contract agreement.										
	Any terms and conditions in the bid or elsewhere that										
	are additional to or different from the terms and conditions										
	of that agreement shall not apply to any transaction(s)										
	that results from CDW-G's submission of its bid response.										
Zones, LLC	Pricing section is filled ,Also refer to Zones Quote attached	3R3-00001-12MO	AAD P1	302	1 \$	5.84	\$ 1,757.84				No
	with Zones Response.										
SHI International	Please see attached for SHI's response.	3R3-00001-12MO	AAD P1	301		6.00	,				No
White Rock Cybersecurity	Thank you!	3R3-00001-12MO	AAD P1	302	_	6.12			4,515 stu use bnft		No
AQL Technologies	Please find the below documents attached.	3R3-00001-12MO	AAD P1	301	ւ \$	8.00	\$ 2,408.00				No
	Signed_B20027 Microsoft Campus Agreement										
	Signed_Microsoft Campus Agreement 2020 AD1										
CRAYON SOFTWARE EXPERTS LLC	Please see attached pricing in response to B20027.	3R3-00001-12MO	AAD P1	301		5.83	• • • • • • • • • • • • • • • • • • • •				No
Dynamic Interactive Business System Inc	None. Vendor agreed to all the standard terms and conditions	3R3-00001-12MO	AAD P1	300	1 \$	7.20	\$ 2,167.20				No
CDW Government LLC	CDW Government ("CDW-G") submits this bid response	6QK-00001-12MO	Windows Azure	<u></u>	ı \$	1,251.45	\$ 1,251.45				No
	subject only to the terms and conditions contained in the	,			1	,	,				
	current IPHEC Computer Components Contract agreement.										
	Any terms and conditions in the bid or elsewhere that										
	are additional to or different from the terms and conditions										
	of that agreement shall not apply to any transaction(s)										
	that results from CDW-G's submission of its bid response.										
Zones, LLC	Pricing section is filled ,Also refer to Zones Quote attached	6QK-00001-12MO	Windows Azure	•	1 \$	1,168.80	\$ 1,168.80				No
	with Zones Response.					,	,,				
SHI International	Please see attached for SHI's response.	6QK-00001-12MO	Windows Azure		L \$	1,200.00					No
White Rock Cybersecurity	Thank you!	6QK-00001-12MO	Windows Azure		1 \$	1,200.00	\$ 1,200.00				No
AQL Technologies	Please find the below documents attached.	6QK-00001-12MO	Windows Azure		1 \$	90.00	\$ 90.00				No
	Signed_B20027 Microsoft Campus Agreement										
	Signed_Microsoft Campus Agreement 2020 AD1										
CRAYON SOFTWARE EXPERTS LLC	Please see attached pricing in response to B20027.	6QK-00001-12MO	Windows Azure		1 \$	1,200.00	\$ 1,200.00				No
Dynamic Interactive Business System Inc	None. Vendor agreed to all the standard terms and	6QK-00001-12MO	Windows Azure		1						Yes
		·	1	•			i .	i e	•		1

Supplier Name	Response Notes	Item Number (Requir	ed · Item/Service (Required - Entity)	Quantity (Required -	Unit Bid		Extended Bid Price	Notes	SupplierNotes	Attachments	NoBid
		Entity)		Entity)	(Require		(Required - Supplier)				
					Supplier		A 005.00				
CDW Government LLC	CDW Government ("CDW-G") submits this bid response	NK5-00001-12MO	PowerBI	17	\$	23.91	\$ 286.92				No
	subject only to the terms and conditions contained in the current IPHEC Computer Components Contract agreement.										
	Any terms and conditions in the bid or elsewhere that										
	are additional to or different from the terms and conditions										
	of that agreement shall not apply to any transaction(s)										
	that results from CDW-G's submission of its bid response.										
	that results from east of a submission of its bia response.										
Zones, LLC	Pricing section is filled ,Also refer to Zones Quote attached	NK5-00001-12MO	PowerBI	12	\$	22.32	\$ 267.84				No
	with Zones Response.										
SHI International	Please see attached for SHI's response.	NK5-00001-12MO	PowerBI		\$	22.92					No
White Rock Cybersecurity	Thank you!	NK5-00001-12MO	PowerBI		\$	23.40					No
AQL Technologies	Please find the below documents attached.	NK5-00001-12MO	PowerBI	17	\$	25.00	\$ 300.00				No
	Signed_B20027 Microsoft Campus Agreement										
	Signed_Microsoft Campus Agreement 2020 AD1										
CRAYON SOFTWARE EXPERTS LLC	Please see attached pricing in response to B20027.	NK5-00001-12MO	PowerBI		\$	22.26	\$ 267.12				No
Dynamic Interactive Business System Inc	None. Vendor agreed to all the standard terms and	NK5-00001-12MO	PowerBl	17	2						Yes
CDW Government LLC	conditions CDW Government ("CDW-G") submits this bid response	6E9-00002-12MO	AAD P2	1450	Ċ	6.26	\$ 9,077.00				No.
CDW Government LLC	subject only to the terms and conditions contained in the	0E9-00002-12IVIO	AAD P2	1430	7 3	0.20	\$ 9,077.00				INO
	current IPHEC Computer Components Contract agreement.										
	Any terms and conditions in the bid or elsewhere that										
	are additional to or different from the terms and conditions										
	of that agreement shall not apply to any transaction(s)										
	that results from CDW-G's submission of its bid response.										
Zones, LLC	Pricing section is filled ,Also refer to Zones Quote attached	6E9-00002-12MO	AAD P2	1450) \$	5.84	\$ 8,468.00				No
	with Zones Response.										
SHI International	Please see attached for SHI's response.	6E9-00002-12MO	AAD P2	1450	\$	6.00	\$ 8,700.00				No
White Rock Cybersecurity	Thank you!	6E9-00002-12MO	AAD P2	1450	\$	12.24	\$ 17,748.00				No
AQL Technologies	Please find the below documents attached.	6E9-00002-12MO	AAD P2	1450	\$	13.00	\$ 18,850.00				No
	Signed_B20027 Microsoft Campus Agreement										
	Signed_Microsoft Campus Agreement 2020 AD1										
CRAYON SOFTWARE EXPERTS LLC	Please see attached pricing in response to B20027.	6E9-00002-12MO	AAD P2	1450		5.83	•				No
Dynamic Interactive Business System Inc	None. Vendor agreed to all the standard terms and	6E9-00002-12MO	AAD P2	1450	\$	7.45	\$ 10,802.50				No
	conditions			_							
CDW Government LLC	CDW Government ("CDW-G") submits this bid response	LJ9-00001-12mo	Audio Conferencing	50	\$	18.64	\$ 932.00				No
	subject only to the terms and conditions contained in the										
	current IPHEC Computer Components Contract agreement.										
	Any terms and conditions in the bid or elsewhere that										
	are additional to or different from the terms and conditions										
	of that agreement shall not apply to any transaction(s) that results from CDW-G's submission of its bid response.										
	that results from CDW-G 5 submission of its bid response.										
Zones, LLC	Pricing section is filled ,Also refer to Zones Quote attached	LJ9-00001-12mo	Audio Conferencing	50	\$	17.53	\$ 876.50				No
	with Zones Response.				<u> </u>						
SHI International	Please see attached for SHI's response.	LJ9-00001-12mo	Audio Conferencing		\$	18.00					No
White Rock Cybersecurity	Thank you!	LJ9-00001-12mo	Audio Conferencing		\$	18.36	\$ 918.00		21,750 stu use bnft		No
AQL Technologies	Please find the below documents attached.	LJ9-00001-12mo	Audio Conferencing	50)						Yes
	Signed_B20027 Microsoft Campus Agreement										
	Signed_Microsoft Campus Agreement 2020 AD1	LJ9-00001-12mo	Audio Conferencing	-		47.40	6 074.00				N1 -
CDAVON COLTAVADE EVDEBTO ! C											1010
CRAYON SOFTWARE EXPERTS LLC Dynamic Interactive Business System Inc	Please see attached pricing in response to B20027. None. Vendor agreed to all the standard terms and	LJ9-00001-12mo	Audio Conferencing Audio Conferencing	50	\$	17.48	\$ 874.00				No Yes

Supplier Name	Response Notes	Item Number (Require Entity)	ed - Item/Service (Required - Entity)	Quantity (Required - Entity)	Unit Bio	d Price ed -	Extended Bid Price (Required - Supplier)	Notes	SupplierNotes	Attachments	NoBid
				,	Supplie		(, and and princip				
CDW Government LLC	CDW Government ("CDW-G") submits this bid response subject only to the terms and conditions contained in the current IPHEC Computer Components Contract agreement. Any terms and conditions in the bid or elsewhere that are additional to or different from the terms and conditions of that agreement shall not apply to any transaction(s) that results from CDW-G's submission of its bid response.	AAD-38391-12mo	Microsoft 365 Bundle Option #1 (Optimizing Items 1-17): Microsoft 365 A3	1800		59.32	\$ 106,776.00				No
Zones, LLC	Pricing section is filled ,Also refer to Zones Quote attached with Zones Response.	AAD-38391-12mo	Microsoft 365 Bundle Option #1 (Optimizing Items 1-17): Microsoft 365 A3	1800	\$	54.04	\$ 97,272.00				No
SHI International	Please see attached for SHI's response.	AAD-38391-12mo	Microsoft 365 Bundle Option #1 (Optimizing Items 1-17): Microsoft 365 A3	1800	\$	56.88	\$ 102,384.00				No
White Rock Cybersecurity	Thank you!	AAD-38391-12mo	Microsoft 365 Bundle Option #1 (Optimizing Items 1-17): Microsoft 365 A3	1800	\$	57.96	\$ 104,328.00		72,000 stu use bnft		No
AQL Technologies	Please find the below documents attached. Signed_B20027 Microsoft Campus Agreement Signed_Microsoft Campus Agreement 2020 AD1	AAD-38391-12mo	Microsoft 365 Bundle Option #1 (Optimizing Items 1-17): Microsoft 365 A3	1800							Yes
CRAYON SOFTWARE EXPERTS LLC	Please see attached pricing in response to B20027.	AAD-38391-12mo	Microsoft 365 Bundle Option #1 (Optimizing Items 1-17): Microsoft 365 A3	1800	\$	53.48	\$ 96,264.00				No
Dynamic Interactive Business System Inc	None. Vendor agreed to all the standard terms and conditions	AAD-38391-12mo	Microsoft 365 Bundle Option #1 (Optimizing Items 1-17): Microsoft 365 A3	1800							Yes
CDW Government LLC	CDW Government ("CDW-G") submits this bid response subject only to the terms and conditions contained in the current IPHEC Computer Components Contract agreement. Any terms and conditions in the bid or elsewhere that are additional to or different from the terms and conditions of that agreement shall not apply to any transaction(s) that results from CDW-G's submission of its bid response.	AAD-38391-12mo	Microsoft 365 Bundle Option #2 (Optimizing Items 1-17): Microsoft 365 A3	1800	\$	37.54	\$ 67,572.00				No
Zones, LLC	Pricing section is filled ,Also refer to Zones Quote attached with Zones Response.	AAD-38391-12mo	Microsoft 365 Bundle Option #2 (Optimizing Items 1-17): Microsoft 365 A3	1800	\$	54.04	\$ 97,272.00				No
SHI International	Please see attached for SHI's response.	AAD-38391-12mo	Microsoft 365 Bundle Option #2 (Optimizing Items 1-17): Microsoft 365 A3	1800	\$	56.88	\$ 102,384.00				No
White Rock Cybersecurity	Thank you!	AAD-38391-12mo	Microsoft 365 Bundle Option #2 (Optimizing Items 1-17): Microsoft 365 A3	1800	\$	57.96	\$ 104,328.00		72,000 stu use bnft		No
AQL Technologies	Please find the below documents attached. Signed_B20027 Microsoft Campus Agreement Signed_Microsoft Campus Agreement 2020 AD1	AAD-38391-12mo	Microsoft 365 Bundle Option #2 (Optimizing Items 1-17): Microsoft 365 A3	1800							Yes
CRAYON SOFTWARE EXPERTS LLC	Please see attached pricing in response to B20027.	AAD-38391-12mo	Microsoft 365 Bundle Option #2 (Optimizing Items 1-17): Microsoft 365 A3	1800	\$	53.48	\$ 96,264.00				No
Dynamic Interactive Business System Inc	None. Vendor agreed to all the standard terms and conditions	AAD-38391-12mo	Microsoft 365 Bundle Option #2 (Optimizing Items 1-17): Microsoft 365 A3	1800							Yes
CDW Government LLC	CDW Government ("CDW-G") submits this bid response subject only to the terms and conditions contained in the current IPHEC Computer Components Contract agreement. Any terms and conditions in the bid or elsewhere that are additional to or different from the terms and conditions of that agreement shall not apply to any transaction(s) that results from CDW-G's submission of its bid response.	PYQ-00001-12MO	Microsoft 365 Bundle Option #2 (Optimizing Items 1-17): M365 A5 Security	1800	\$	122.14	\$ 219,852.00				No
Zones, LLC	Pricing section is filled ,Also refer to Zones Quote attached with Zones Response.	PYQ-00001-12MO	Microsoft 365 Bundle Option #2 (Optimizing Items 1-17): M365 A5 Security	1800	\$	34.20	\$ 61,560.00				No
SHI International	Please see attached for SHI's response.	PYQ-00001-12MO	Microsoft 365 Bundle Option #2 (Optimizing Items 1-17): M365 A5 Security	1800	\$	36.00	\$ 64,800.00				No
White Rock Cybersecurity	Thank you!	PYQ-00001-12MO	Microsoft 365 Bundle Option #2 (Optimizing Items 1-17): M365 A5 Security	1800	\$	36.72	\$ 66,096.00				No
AQL Technologies	Please find the below documents attached. Signed_B20027 Microsoft Campus Agreement Signed_Microsoft Campus Agreement 2020 AD1	PYQ-00001-12MO	Microsoft 365 Bundle Option #2 (Optimizing Items 1-17): M365 A5 Security	1800							Yes

Supplier Name	Response Notes	Item Number (Require	ed · Item/Service (Required - Entity)	Quantity (Required -	Unit Bid Price	Extended Bid Price	Notes	SupplierNotes	Attachments	NoBid
		Entity)		Entity)	(Required -	(Required - Supplier)				
					Supplier)					
CRAYON SOFTWARE EXPERTS LLC	Please see attached pricing in response to B20027.	PYQ-00001-12MO	Microsoft 365 Bundle Option #2 (Optimizing	1800	\$ 34.96	\$ 62,928.00				No
			Items 1-17): M365 A5 Security							
Dynamic Interactive Business System Inc	None. Vendor agreed to all the standard terms and	PYQ-00001-12MO	Microsoft 365 Bundle Option #2 (Optimizing	1800						Yes
	conditions		Items 1-17): M365 A5 Security							
Zones, LLC	Pricing section is filled ,Also refer to Zones Quote attached	AAD-38400-12mo	Microsoft 365 Bundle Option #3 (Optimizing	1800	\$ 111.26	\$ 200,268.00				No
	with Zones Response.		Items 1-17): M365 A5							
SHI International	Please see attached for SHI's response.	AAD-38400-12mo	Microsoft 365 Bundle Option #3 (Optimizing	1800	\$ 117.12	\$ 210,816.00				No
			Items 1-17): M365 A5							
White Rock Cybersecurity	Thank you!	AAD-38400-12mo	Microsoft 365 Bundle Option #3 (Optimizing	1800	\$ 119.52	\$ 215,136.00		72,000 stu use bnft		No
			Items 1-17): M365 A5							
AQL Technologies	Please find the below documents attached.	AAD-38400-12mo	Microsoft 365 Bundle Option #3 (Optimizing	1800						Yes
	Signed_B20027 Microsoft Campus Agreement		Items 1-17): M365 A5							
	Signed_Microsoft Campus Agreement 2020 AD1									
CRAYON SOFTWARE EXPERTS LLC	Please see attached pricing in response to B20027.	AAD-38400-12mo	Microsoft 365 Bundle Option #3 (Optimizing	1800	\$ 110.12	\$ 198,216.00				No
			Items 1-17): M365 A5							
Dynamic Interactive Business System Inc	None. Vendor agreed to all the standard terms and	AAD-38400-12mo	Microsoft 365 Bundle Option #3 (Optimizing	1800						Yes
	conditions		Items 1-17): M365 A5							
ACP CreativIT										NoBid
Futurehaus										NoBid